s fEEU R i 1 BRI = e 470
GROOVED PIPING SYSTEMS

-
Rl
H
CS

el
T

ERMEMLE

pppppppp 1S019001



H)) BERX ISR E

GROOVED PIPING SYSTE

DLBEIIHMIZIAR E RN C RN ERE R ERRMIIRE - BRBEENHEWIRRACE 1A
MR EEIRA - BRELiELREF e LHRSRIFE  HEEIASTSRREREZETIREEER
gAERseRY  HERERMISEEEE M ERR « RHEREYRE T SENERRH

DL BB UK EERALE WIS UL~ FM 5358 » B2 ERESERRNA « e - REE -
MEEZRMEFEM - DL G mIE Eﬁﬂ”q?ri?r tERR EEM - ET/ERE I{’EJ_UJEQFq
AP0 Eﬁé‘fgﬂg{fﬁﬁiﬂlg B VEEST DLIZEETIER  BERERFEARZEZEE -

CERTIFICATE OF COMPLIANCE

Certficate Number  20150728-EX6617
Report Reference  EX26617-20150728
2015-JULY-28

Certificate of Compliance

RNROR APPROVED

“This s to certify that FIWINGS GROOVED AND PLAIN END
ith SHANDONG
D\NGUANG CASTING (FOUNDRY INSDUTRY)
COMPANY LTD'S (EX26616) Listed ubber gasketed
fiting

s for sizes and working pressures as shown in report

‘Shandong 261200 CHINA

XGQT04, XGQT045, XGQT05, XGQT09, XGQT0sS,
XGQT08, XGATO7G, XGQTO7P, XGQT07S, XGQT10

“Pipe Couplings and Fitings for Aboveground Fire Protection Systems™

<;ius. /72.,%/-

FNI Auumvals




() BB SIS
GROOVED PIPING SYSTENS .

¥4 HEEE (Flexible coupling)

i@ﬁﬁﬁé@%#%ﬂ%ﬁ?@ﬂﬁ?%?ﬁﬁ\ﬁﬁ’l‘ﬁiﬁﬂ\ﬁ?ﬁﬁﬂ{%’jﬁﬁ M= o AT
TR { %

[ 14$% 58 (Rigid coupling)
IR EMIMBCE ESE - M REATTS ANSIB31.1 ~ B31.9 K2 NFPA 13 o

=
=
H
)
ft
$
=
2
=

s
. 5




H)) BERX ISR E

GROOVED PIPING SYSTE

$EiEABE : 754 ASTM A-536 Grade 65-45-12 % #f B SR {9 Bk ik 5 2 5 # (Ductile
Iron) o

FEZE  AIBHTR - EBREE - Y MRSk

I24F / 1208 - AR EIERVIEEY SR D - $FS ASTM A-449 LUK ASTM A-183 Ry4)
B{EBEXK -

BB : 54 ASTM D-2000
AT {EEE S : 300psi/21kg/cm? o

DL SIRERFE UL/FM 5L -

B EESE
ME ERRE B FERESE
=TNEAZRE | 3400 - 11500C @ ?_E%Fﬁﬁéiﬁﬁiﬂrﬁ%ﬁWE@%@;&%&%LIE%%E%%E’& M7
EPDM Gaskets REBZICIERSS  AHENEEZR -
RoFI R 40°C~+177°C | =& WEARNARESE 177°C» NEMRELEYRIEZIREZe T

Silicone Gaskets Bt TERSES - AmBENEEZA -

TREiE R WERMIEAESERNNARES BEILEY « SHhE
Nitril eﬁGa slfets -29°C~+82°C | #Bfa || - EYEEYR » THERREER +60°C ROz IR ZE
RAFARERE +66°C BUKEREE - THERMNEHKRKE

faE : A IEFE R EMIZREAACE R4 - 555K DL RRERM -




) Wil ISR

GROOVED PIPING SYST

AR Nﬁqv - BELEED | oo o / sERY /
T 1 mm EmmI K i
2 50 60.3 3007/ 21 45
21/2 65 73 3 2-M10x 55 45
21/2 65 76.1 300 2-M10 x 55 100
3 80 88.9 300/ 21 2-M10x 55 114
4 100 1143 300/ 21 2-M12x 65 147.2 50
5 125 141.3 300/ 21 2-M12x75 170 ZZA 50
5 125 139.7 300/ 21 2-M12x75 170 222 bso
6 150 168.3 300/ 21 2-M12x75 205 254 50
6 150 165.1 300/ 21 2-M12x75 203 248 50
8 200 219.1 300/ 21 2-M16 x 85 257 330 58
8 200 216.3 300/ 21 2-M16 x 85 257 330 58
10 250 273 300/ 21 2-M20x 130 328 420 62
10 250 267.4 300/ 21 2-M20x 130 328 420 62
12 300 3239 300/ 21 2-M20x 130 380 454 63
12 300 318.5 300/ 21 2-M20x 130 380 454 63
e WEE R TR REHERTAREE - BT 57EA -
< = T /e[ R
SR TERE e | e AR
mm mm Kg/cm? B&-RY X Y z
2 50 60.3 300/ 21 2-M10x 55 85 125 45
21/2 65 73 300/ 21 2-M10x 55 98 137 45
21/2 65 76.1 300/ 21 2-M10x 55 100 139 45
3 80 88.9 300/ 21 2-M10x 55 114 160 45
4 100 1143 300/ 21 2-M12 x 65 147.2 193 50
5 125 141.3 300/ 21 2-M12x75 170 222 50
5 125 139.7 300/ 21 2-M12x75 170 222 50
6 150 168.3 300/ 21 2-M12x75 205 254 50
6 150 165.1 300/ 21 2-M12x75 203 248 50
8 200 219.1 300/ 21 2-M16 x 85 257 330 58
8 200 216.3 300/ 21 2-M16 x 85 257 330 58
10 250 273 300/ 21 2-M20x 130 328 420 62
10 250 267.4 300/ 21 2-M20x 130 328 420 62
12 300 3239 300/ 21 2-M20x 130 380 454 63
12 300 318.5 300/ 21 2-M20x 130 380 454 63
W ER R TR s R iR E mmE FrEE - 7@
APPROVED
?’*'l’ft]%f:g — EETIERAN i / 121 IMEBR~F
BIHE PSI HE - R X Y z
mm Kg/cm
60.3 300/ 21 2-M10x55 85 125 45
73 300/ 21 2-M10x 55 98 137 45
76.1 300/ 21 2-M10x 55 100 139 45
88.9 300/ 21 2-M10x 55 114 160 45
114.3 300/ 21 2-M12x 65 147.2 193 50
1413 300/ 21 2-M12x75 170 222 50
139.7 300/ 21 2-M12x75 170 222 50
168.3 300/ 21 2-M16 x 85 205 254 50
165.1 300/ 21 2-M16 x 85 203 248 50
219.1 300/ 21 2-M20x 120 257 330 58
216.3 300/ 21 2-M20x 120 257 330 58
273 300/ 21 2-M22 x 140 328 420 62
267.4 300/ 21 2-M22 x 140 328 420 62
3239 300/ 21 2-M22 x 140 380 454 63
318.5 300/ 21 2-M22 x 140 380 454 63
BEERMIRERMEEE) AR FBITEA

4




57 BB W IR R E

GROOVED PIPING SYSTE
S

<Fm>

APPROVED
LISTED
p&ﬂ
1ISO 9001
oz Hgp: Tol | mg:Toz | Eg: To3 BgE: Tos | Mk To7 | Hzk: Tos
5518 90° EEE 45° E50 EE=8 5= 22.5° S5 11.25° 555
. o | BEERD | BEERD | BEERD REZERD | BEZERO | BEEGO
“*ﬁﬁq Enfmﬁ CTOE CTOE CTOE CTOE CTOE CTOE
mm mm mm mm mm mm
2 50 | 603 70 51 70 83 238 51 35
212 | 65 73 76 57 76 95 238 51 38
212 | 65 | 761 76 57 76 95 238 51 38
3 80 | 889 86 64 86 108 238 57 38
4 100 | 1143 102 76 102 127 254 73 44
5 125 | 1413 122 83 122 140 254 73 51
5 125 | 1397 122 83 122 140 25.4 73 51
6 150 | 1683 140 89 140 165 25.4 79 51
6 150 | 165.1 140 89 140 165 254 79 51
8 200 | 219.1 175 108 175 197 32 98 51
8 N20o | 2163 175 108 175 197 32 98 51
10 f 250 | 273 215 121 215 229 32 o 54
10 7.4 215 229 32 1 54
2l 300 |3 245 254 32 124 57
12 €1 8.5 245 254 32 124 57
) WESRS g REMERmMBEREE) - 2815178 -




() BB SIS

GROOVED PIPING SYST

%% O &£ ANSICL. 150
_L PN16

|-—C1nE—0|

APPROVED  LISTED 1SO 9001

AIZE : T10-A AIZE : T10
AR e SERRFSE ANSI 150 SARRISE PN 16
mm mm B/ ILE D () LR+ LB/ IE D () iy
2 50 60.3 4/19mm 120.5 60.3 4/18mm 125 60.3
21/2 65 73 4/19mm 139.7 60.3 4/18mm 145 60.3
21/2 65 76.1 4/19mm 139.7 60.3 4/18mm 145 60.3
3 80 88.9 4/19mm 152.4 60.3 8/18mm 160 60.3
4 100 114.3 8/19mm 190.5 70 8/18mm 180 70
5 125 141.3 8/22mm 216 60.3 8/18mm 210 60.3
5 125 139.7 8/22mm 216 60.3 8/18mm 210 60.3
6 150 168.3 8/22mm 241.3 70 8/22mm 240 70
6 150 165.1 8/22mm 241.3 70 8/22mm 240 70
8 200 219.1 8/22mm 298.5 76 12/26mm 295 76
8 200 216.3 8/22mm 298.5 76 12/26mm 295 76
10 250 273 12/ 24mm 362 85 12/26mm 355 85
10 250 267.4 12/ 24mm 362 85 12/26mm 355 85
12 300 3239 12/25mm 432 90 12/26mm 410 90
12 300 318.5 12/25mm 432 90 12/26mm 410 90

BESRTAEEERBMRRMAEE - LT HBITE

=+ B —.-“-‘.'JIS10K

|
s B J1s 20K

P—CmE—b‘

APPROVED LISTED  ISO 9001

BUZE D T11 BUZE 1 T12
ABR BHME SKEBIRE NIS 10K SEREFEE NIS 20K
e ™ Amam | FOEO LR Amag | FOEOQ LR

2 50 60.3 4/19mm 120 60.3 8/19mm 120 60.3
2172 65 73 4/19mm 140 60.3 8/19mm 140 60.3
M 21/2 65 76.1 4/19mm 140 60.3 8/19mm 140 60.3
88.9 8/19mm 150 60.3 8/23mm 160 60.3

1143 8/19mm 175 70 8/23mm 185 70
141.3 8/23mm 210 60.3 8/25mm 225 60.3
139.7 8/23mm 210 60.3 8/25mm 225 60.3

240 70 12/25mm 260 70

240 70 12/25mm 260 70

290 76 12/25mm 305 76

290 76 12/25mm 305 76

\_10 / 250 355 85 12/27mm 380 85

10 J 250 . 12/25mm 355 85 12/27mm 380 85

2 N\ 300 ; 16/25mm 400 90 16/27mm 430 90

12 \ 300 400 90 16/27mm 430 90

BELKR TS RBXMERERMBAEE) - BT 5ITEM




() 1 A B s

GIII]I)\IIEII PIPING SYSTE
E (« —

(;B18 ) T04 ATER EHE
mm m

21/2x2 65%50 73x60.3 300/21

21/2x2 65%50 76.1x60.3 300/ 21

3x2 80x50 88.9%60.3 300/ 21

3x21/2 8065 88.9x73 300/ 21
3x21/2 8065 88.9x76.1 300/ 21 86
4x2 100%50 114.3x60.3 300/ 21 102
4%21/2 100%65 114.3x73 300/ 21 102
4x2172 100%65 114.3x76.1 300/21 102
4x3 100x80 114.3x88.9 300/21 102
5x2 125x50 141.3x60.3 300/21 122
5x21/2 125%65 141.3x73 300/21 122
5x3 125x80 141.3x88.9 300/21 122
5x4 125%100 141.3x1143 300/21 122
5x2 125x50 139.7x60.3 300/21 122
'["' o il 5x21/2 125%65 139.7x76.1 300/21 122
5x3 125x80 139.7x88.9 300/21 122
i 5x4 125%100 139.7x114.3 300/21 122
i 6x2 15060 168.3x60.3 300/21 140
i ¥ 6x21/2 150%65 168.3x73 300/ 21 140
L s 6x3 15080 168.3x88.9 300/21 140
6x4 150%100 168.3x114.3 300/21 140
1 6x5 150%125 168.3x141.3 300/21 140
6x2 15060 165.1x60.3 300/ 21 140
PN 6x21/2 150%65 165.1x76.1 300/ 21 140
@ ““5 "Bb 6x3 150x80 165.1x88.9 300/21 140
APPROVED  USTER IS0 9001 6x4 150%100 165.1x114.3 300/ 21 140
6x5 150%125 165.1x139.7 300/ 21 140
8x2 200x50 219.1x60.3 300/ 21 175
8x21/2 200x65 219.1x73 300/ 21 175
8x3 200x80 219.1x88.9 300/ 21 175
8x4 200x100 219.1x114.3 300/ 21 175
8x5 200x125 219.1x141.3 300/ 21 175
8x6 200150 219.1x168.3 300/ 21 175
8x2 200x50 216.3x60.3 300/ 21 175
8x21/2 200x65 216.3x76.1 300/ 21 175
8x3 200x80 216.3x88.9 300/ 21 175
8x4 200x100 216.3x114.3 300/ 21 175
8x5 200x125 216.3x139.7 300/21 175
8x6 200x150 216.3x165.1 300/21 175
10x6 250150 273x168.3 300/21 215
10x8 250x200 273x219.1 300/21 215
TN\ 1oxs 250x150 267.4x165.1 300/21 215
10x8 250x200 267.4x216.3 300/21 215
12x6 300x150 323.9%168.3 300/21 245
1 12x10 300x250 323.9%273 300/21 245
12x6 300x150 318.5%165.1 300/21 245
12% 10 300x250 318.5%267.4 300/21 245

WESRT RS RBMRERMAAEE - T 5T8H -




i fE IR 1R B B0 = W 4

L
E(«_

(BSPT )

GROOVED PIPING SYST

~T04S

@"“

APPROVED ISTED 1ISO 9001

AR &
mm mm

2x1 50x25 60.3x33.4 300/ 21

2x11/4 50%32 60.3x42.2 300/ 21
2x11/2 50x40 60.3x48.3 300/ 21 70
21/2x1 65x25 73x334 300/ 21 76
21/2x11/4 65%32 73%42.2 300/ 21 76
21/2x11/2 65%40 73%x48.3 300/ 21 76
21/2%x2 65x50 73x60.3 300/ 21 76
21/2x1 65%25 76.1x33.4 300/ 21 76
21/2x11/4 65x32 76.1x42.2 300/ 21 76
21/2x11/2 65x40 76.1x48.3 300/ 21 76
21/2%x2 65%50 76.1x60.3 300/ 21 76
3x1 80x25 88.9x33.4 300/ 21 86
3x11/4 80x32 88.9x42.2 300/ 21 86
3x11/2 80x40 88.9x48.3 300/ 21 86
3x2 80x50 88.9x60.3 300/ 21 86
3x21/2 80x65 88.9x73 300/ 21 86
3x21/2 80x65 88.9%x76.1 300/ 21 86
4x1 100%x25 114.3x33.4 300/ 21 102
4x11/4 100x32 114.3x42.2 300/ 21 102
4x11/2 100x40 114.3x48.3 300/ 21 102
4x2 100x50 114.3x60.3 300/ 21 102
4x21/2 100x65 114.3x73 300/ 21 102
4x21/2 100x65 114.3x76.1 300/ 21 102
5x%x2 125%x50 141.3x60.3 300/ 21 122
5%x21/2 125x65 141.3x73 300/ 21 122
5x%x2 125%x50 139.7x60.3 300/ 21 122
5%x21/2 125%x65 139.7%x76.1 300/ 21 122
6x2 150x50 168.3x60.3 300/ 21 140
6x21/2 150%x65 168.3x73 300/ 21 140
6x2 15050 165.1x60.3 300/ 21 140
6x21/2 150x65 165.1x76.1 300/ 21 140

WES RS s gRARMIRA M A FrES) - 28T BITEA ©



H)) BERX ISR E

GROOVED PIPING SYSTE

N/\ER
(;&1E) g TO 7 G ATBR i i

mm kg/cm?

4

21/2x2 65x50 73%60.3 300/ 21
21/2x2 65x50 76.1x60.3 300/ 21
3x2 80x50 88.9x60.3 300/ 21
3x21/2 80x65 88.9x73 300/ 21 64
3x21/2 80x65 88.9x76.1 300/ 21 64
4x2 10050 114.3%60.3 300/ 21 76
4x21/2 100x65 114.3x73 300/ 21 76
4x21/2 100x65 114.3%76.1 300/ 21 76
4x3 100x80 114.3x88.9 300/ 21 76
5x2 125%60 141.3%60.3 300/ 21 89
5x21/2 125%65 141.3x73 300/ 21 89
5x3 125%80 141.3x88.9 300/ 21 89
5x4 125%100 141.3x114.3 300/ 21 89
5x2 125%60 139.7x60.3 300/ 21 89
| 5x21/2 125%65 139.7x76.1 300/ 21 89
__/ 5x3 125%80 139.7x88.9 300/ 21 89

5x4 125%100 139.7x114.3 300/ 21 89

pQAnN
@ “ Us "Gb 6x2 15060 168.3x60.3 300/21 102

APPROVED  LISTED 1ISO 9001

6x21/2 150%x65 168.3x73 300/ 21 102
6x3 150%80 168.3x88.9 300/ 21 102

6x4 150100 168.3x114.3 300/ 21 102

6Xx5 150%125 168.3x141.3 300/ 21 102

6x2 15060 165.1x60.3 300/ 21 102
6x21/2 150%x65 165.1x76.1 300/ 21 102
6x3 150%80 165.1x88.9 300/ 21 102

6x4 150%x100 165.1x114.3 300/ 21 102

6x5 150%x125 165.1x139.7 300/ 21 102
8x21/2 200x65 219.1x73 300/ 21 127
8x3 200x80 219.1x88.9 300/ 21 127

8x4 200x100 219.1x114.3 300/ 21 127

8x5 200x125 219.1x141.3 300/ 21 127

8x6 200x150 219.1x168.3 300/ 21 127
8x21/2 200x65 216.3x76.1 300/ 21 127
ﬂ 8x3 200x80 216.3x88.9 300/ 21 127
8x4 200x100 216.3x114.3 300/ 21 127

A 8x5 200x125 216.3x139.7 300/ 21 127
8x6 200x150 216.3x165.1 300/ 21 127

BERR T A EERBXMRRMBEE) - DT 5ITEM




() BB SIS

GROOVED PIPING SYST

@Sﬁ:ﬂ? ,J \“E T07 ABR w

-

CtoE
mm mm
-
2x1 5025 60.3x33.4 300/21 64
2%11/4 50x32 60.3x42.2 300/21 64
2%11/2 50x40 60.3x483 300/21 ) —
21/2%1 65x25 73x334 300/21 64
21/2x11/4 65x32 73x42.2 300/21 64
21/2x1172 65x40 73x483 300/21 64
21/2%2 65x50 73x60.3 300/21 64
212%1 65x25 76.1x33.4 300/21 64
« CE — 21/2x11/4 65x32 76.1x42.2 300/ 21 64
N 21/2x1172 65x40 76.1x483 300/21 64
21/2%2 65x50 76.1%60.3 300/21 64
3x1 80x25 88.9x334 300/21 64
3% 11/4 80x32 88.9x42.2 300/21 64
3x11/2 80x40 88.9x48.3 300/21 64
| H 3%2 80x50 88.9x60.3 300/21 64

3x21/2 80x65 88.9x73 300/ 21 64

<> (W) BES
¢ Us 3x21/2 80x65 88.9x76.1 300/ 21 64

APPROVED  LISTED 1ISO 9001

4x1 100%x25 114.3x33.4 300/ 21 76
4x11/4 100x32 114.3x42.2 300/ 21 76
4x11/2 100x40 114.3x48.3 300/ 21 76

4x2 100x50 114.3x60.3 300/ 21 76
4x21/2 100x65 114.3%x73 300/ 21 76
4x21/2 100x65 114.3%76.1 300/ 21 76

5x2 125%50 141.3%60.3 300/ 21 89
5%x21/2 125%65 141.3%73 300/ 21 89

5x2 125%50 139.7x60.3 300/ 21 89
5x21/2 125%65 139.7x76.1 300/ 21 89

6x2 150%50 168.3x60.3 300/ 21 102
6x21/2 150%x65 168.3x73 300/ 21 102

6x2 150%50 165.1x60.3 300/ 21 102
6x21/2 150x65 165.1x76.1 300/21 102

8x2 200x50 219.1x60.3 300/21 127
8x21/2 200x65 219.1x73 300/ 21 127

8x2 200x50 216.3x60.3 300/ 21 127
8x21/2 200x65 216.3x76.1 300/ 21 127

WESR T AR RRMERR M A EE) - 8T 5ITEA

10




() 1 A B s

GROOVED PIPING SYSTE
fmibK/NE

(7B18) TO 7 ABRY s\ " e
mm 0 kg/cm?
3x2 80x50 88.9x60.3 300/21
4x2 10050 114.3x60.3 300/ 21
4x21/2 10065 114.3x73 300/21 76
4x21/2 100%65 114.3x76.1 300/21 76
4x3 10080 114.3x88.9 300/21 76
5%21/2 125%65 141.3x73 300/21 89
5x3 125x80 141.3x88.9 300/21 89
- CE  — 5x4 125x100 141.3x1143 300/21 89
5%21/2 125x65 139.7x76.1 300/21 89
5x3 125x80 139.7x88.9 300/21 89
5x4 125x100 139.7x114.3 300/21 89
6x21/2 15065 168.3x73 300/21 102
6x3 15080 168.3x88.9 300/21 102
@ pen 6x4 150100 168.3x114.3 300/21 102
[+ Us
APPROVED  LISTED  ISO 9001 6x5 150125 168.3x141.3 300/ 21 102
6x21/2 15065 165.1x76.1 300/21 102
6x3 15080 165.1x88.9 300/21 102
6x4 150100 165.1x114.3 300/21 102
6x5 150x125 165.1x139.7 300/21 102
8x3 20080 219.1x88.9 300/21 127
8x4 200x100 219.1x114.3 300/21 127
8x5 200x125 219.1x141.3 300/21 127
8x6 200150 219.1x168.3 300/ 21 127
8x3 200x80 216.3x88.9 300/ 21 127
8x4 200100 216.3x114.3 300/ 21 127
8x5 200x125 216.3x139.7 300/ 21 127
8x6 200x150 216.3x165.1 300/ 21 127
~ 10x6 250150 273x168.3 300/ 21 152
10x8 250%200 273%219.1 300/ 21 152
I 10xe 250x150 267.4x165.1 300/ 21 152
10x8 250%200 267.4x216.3 300/ 21 152

BESRI SR BMREREMAEE - LT HBTEM

1"




() BB SIS

GROOVED PIPING SYST

LS 13

—

I[%]I
D
1

APPROVED LISTED  ISO 9001

AFER~ EHME BIFALR TEED BAIMERSY

mm mm mm Psi / kg/cm? v w Y 7

2x1 50%x25 60.3x33.4 38 300/ 21 75 120 57 69
2x11/4 50%32 60.3x42.2 46 300/ 21 75 120 57 69
2x11/2 50x40 60.3x48.3 51 300/ 21 75 120 61 68
21/2x1 65%x25 73%x33.4 38 300/ 21 93 139 61 77
21/2x11/4 65%32 73%x42.2 46 300/ 21 93 139 61 83
21/2x11/2 65x40 73x48.3 51 300/ 21 93 139 61 83
21/2x1 65x25 76.1x33.4 38 300/ 21 102 144 67 77
21/2x11/4 65x32 76.1x42.2 46 300/ 21 102 144 67 83
21/2%x11/2 65x40 76.1x48.3 51 300/ 21 102 144 67 83
3x1 80x25 88.9x33.4 38 300/ 21 114 155 74 77
3x11/4 80x32 88.9x42.2 46 300/ 21 114 155 73 83
3x11/2 80x40 88.9x48.3 51 300/ 21 114 155 73 93
3x2 80x50 88.9x60.3 64 300/ 21 114 155 78 99
4x1 100x25 114.3x33.4 38 300/ 21 140 181 83 77
4x11/4 100x32 114.3x42.2 46 300/ 21 140 181 95 83
4x11/2 100x40 114.3x48.3 51 300/ 21 140 181 95 92
4x2 100x50 114.3x60.3 64 300/ 21 140 181 93 100
4x21/2 100x65 114.3x73 70 300/ 21 140 181 93 122
4x21/2 100x65 114.3x76.1 70 300/ 21 140 181 93 122
5x1 125%25 141.3x33.4 38 300/ 21 168 210 100 77
5x11/4 125x32 141.3x42.2 46 300/ 21 168 220 100 83
5x11/2 125x40 141.3x48.3 51 300/ 21 168 220 100 92
5x2 125x50 141.3x60.3 64 300/ 21 168 220 103 100
5x21/2 125%x65 141.3x73 70 300/ 21 168 220 103 122
5x1 125%25 139.7x33.4 38 300/ 21 168 210 100 77
5x11/4 125%32 139.7x42.2 46 300/ 21 168 220 100 83
5x11/2 125%40 139.7x48.3 51 300/ 21 168 220 100 92
5x2 125x50 139.7x60.3 64 300/ 21 168 220 103 100
5x21/2 125x65 139.7x76.1 70 300/ 21 168 220 103 122
6x1 150x25 168.3x33.4 38 300/ 21 198 248 120 77
6x11/4 150%32 168.3x42.2 46 300/ 21 198 248 120 83
6x11/2 150%x40 168.3x48.3 51 300/ 21 198 248 120 94
6x2 150x50 168.3x60.3 64 300/ 21 198 248 120 99
6x21/2 150x65 168.3x73 70 300/ 21 198 248 128 122
x 1 15025 165.1x33.4 38 300/ 21 194 248 106 77
6x11/4 150x32 165.1x42.2 46 300/ 21 194 248 112 83
150x40 51 300/ 21 194 248 112 94

64 300/ 21 194 248 116 99
70 300/ 21 194 248 106 122
64 300/ 21 250 311 146 100
70 300/ 21 250 311 146 130
64 300/ 21 250 311 146 100
8><21/2\ 70 300/ 21 250 311 146 130

BESR RS RBMRREMEEE - BT BTE -

)-

12




RIE IR RIRIANIE &

L

GROOVED PIPING SYSTE

FFL VSR EE

(7B1E)

=

=
LDy
I @ c s B0

APPROVED  LISTED 1SO 9001
AR EIME BFLR~F TIERBA RRIMER
mm mm mm Psi / kg/cm? Vv w Y z
3x2 80x50 88.9x60.3 64 300/ 21 114 152 85 29
4x2 100x50 114.3x60.3 64 300/ 21 140 180 29 929
4x21/2 100x65 114.3x73 70 300/ 21 140 180 29 122
4x21/2 100x65 114.3x76.1 70 300/ 21 140 180 29 122
5x2 125%x50 141.3x60.3 64 300/ 21 168 220 112 100
5x21/2 125%x65 141.3x73 70 300/ 21 168 220 112 100
5x2 125x50 139.7%x60.3 64 300/ 21 168 220 112 100
5%x21/2 125x65 139.7x76.1 70 300/ 21 168 220 112 100
6x2 15050 168.3x60.3 64 300/ 21 198 248 130 29
6x21/2 150x65 168.3x73 70 300/ 21 198 248 131 122
6x2 150x50 165.1x60.3 64 300/ 21 194 248 118 929
6x21/2 150%x65 165.1x76.1 70 300/ 21 194 248 126 122
8x2 200x60 219.1x60.3 64 300/ 21 250 311 152 130
8x21/2 200x65 219.1x73 70 300/ 21 250 311 152 130
8x2 200x60 216.3x60.3 64 300/ 21 250 311 152 130
8x21/2 200x65 216.3x76.1 70 300/ 21 250 311 152 130

B hplE IR K

WES RS AEERESMRRMAFTEE - T 5ITEH -

GORABRRRFE
e E AN



miERRIERIE

L
B IEIR IR EE

GROOVED PIPING SYST

NP s e gL
1. BEBEREMSESREBNE o
3 Para P73 =] 777
2. HEERZERIMEEREMRE 2 M o
Sl s I S Var Pa?
3. HIBKNEN  MTEER—BER  HEFEMNKSRERLE I
FKERAEEREKE -
NN SEREES = = = BA— 17
4. BMRRE  REGREPIRIENE KB FERRE—BMNB—XAE - l l
SFRIEEES =N N:TEER
5. &zﬁngéﬁiz&ﬁﬁWﬁﬁ'/ﬂﬂizﬁ’% °
1 2 3 4 5 6 7 8
ATE BIME RENE | BEEE REBER REBRE | BEA | XA
R OD mm A B C ®NEE | &RAINDE
FAE(E =AE SN +0.76 +0.76 =AE SN D T F
2" 60.3 60.9 59.7 15.88 8.74 57.2 56.8 1.60 1.24 63.0
21/27 73.0 73.8 723 15.88 8.74 69.1 68.6 1.98 1.98 75.7
C2N1S//;|S 76.1 77.0 754 15.88 8.74 723 71.8 1.98 1.98 78.7
3" 88.9 89.8 88.1 15.88 8.74 849 84.5 1.98 1.98 914
4" 114.3 115.4 113.5 15.88 8.74 110.1 109.6 2.1 1.98 116.8
CN?{JIS 139.7 141.1 138.9 15.88 8.74 135.5 135.0 2.1 1.98 142.2
57 141.3 142.7 140.5 15.88 8.74 137.0 136.5 2.13 1.98 143.8
CNZ{JIS 165.1 166.7 164.3 15.88 8.74 160.8 160.2 2.16 2.77 167.6
6" 168.3 169.9 167.5 15.88 8.74 164.0 163.4 2.16 2.77 170.9
J;S 216.3 217.9 215.5 19.05 11.91 211.6 210.1 2.34 2.77 220.7
8" 219.1 220.7 2183 19.05 11.91 2144 213.8 2.34 2.77 2235
1JIOS 267.4 269.0 266.6 19.05 11.91 262.6 261.9 2.39 340 271.8
10" 273.0 274.7 2723 19.05 11.91 268.3 267.6 2.39 3.40 2774
:f’ 318.5 320.1 317.7 19.05 11.91 3129 3121 2.77 3.96 3228
127 3239 325.5 323.1 19.05 11.91 3183 3175 2.77 3.96 328.2
BAFLICER R Bl 7CERARE FAFLICEREE BTSRRI
2"x 1" 11/2" 38(mm) 4"x21/2" 23/4" 70(mm)
2"x11/4" 13/4" 46(mm) 5"x 1" 11/2" 38(mm)
2"%x11/2" 13/4" 46(mm) 5"x11/4" 13/4" 46(mm)
21/2"x 1" 11/2" 38(mm) 5"%11/2" 2" 51(mm)
21/2"x11/4" 13/4" 46(mm) 5"x 2" 21/2" 64(mm)
21/2"x11/2" 2" 51(mm) 5"%x21/2" 23/4" 70(mm)
3"x 1" 11/2" 38(mm) 6"x 1" 11/2" 38(mm)
3"x11/4" 13/4" 46(mm) 6"x11/4" 13/4" 46(mm)
Bibc1.1/2" 2" 51(mm) 6"x11/2" 2" 51(mm)
Baixi28 21/2" 64(mm) 6" x 2" 21/2" 64(mm)
4" x 1" 1 " 38(mm) 6"x21/2" 2 3/4" 70(mm)
"x11/4" 13/4" 46(mm) 8" x 2" 21/2" 64(mm)
y 51(mm) 8"x21/2" 2 3/4" 70(mm)
/ ax2\ 272" 64(mm)

BANE « BREMRT RS -

14




